il
W
St
%
I

1. TE4
THE4 EEHIFINA SR — b ERHB P EE R TH
THEHA KBRFF R PR TR 555 (X 28 F5 W7t S fth
2. THEHNE
1)  HEI4 NIRRT SEHSET Mk i PRAR
2) F I & KR (NEKEY)
3) T i 288 H 1 H S 64E12H17TH
= AF T4 9H30H
4) TEyE

SR ST KR S W )




il
W
>
%
I

THEL | BERMAL SRS — b E G TS

TEHX4y « Tfd - FER B Az £ & #A i il A R
ET = 47, 500, 000
IINE K FH A = 47, 500, 000
K3 A = 47,500, 000 | BHPAZEE 1 Fe 4y
1HA NG = Ty 7 Ty 7 BT
. T B oN— BREELEE, Pz,
NI R X
B PHAS 2 F 5
2HNANRT— N Ty I, Ty BT
L Ty ol oN— BEEES. AR A&
HE&Te
) = 47, 500, 000
BLVEIFAM = 47, 500, 000
Paft T Y 11, 593, 496
IINE K P g% T = 211, 000
ik T = 211,000 |/NEKMEg%E 1 =
IR PR i PR AT = 10, 642, 927
/NEKPPERT T =Y 10, 642,927 | BAEA%E & BUg 1 =
1B/ A — R (FEFERD
B PH 2SR 1 2
2GS IR — N (ZEF)
B PH 2SR 1 2
2 NA R — N (R BERRBAHEM AR
vsL - BIRET
CEf Y= 1 F2V
EHRE 1 =X
-1- ES I B G i 3 Wi o)




TH4 | BERMASA SRS — R R P E R L E

THEXSy - THE - FE5 H7 & & # i Gl 2 N

& L =X 1 739, 569

TR 3 T (BEARER () 2V 1 739,569 |RRXEYs (HEEHEEEL) 1 E20
Hm IR E E20 1 2, 268, 510
e Tre: X 1 3,510

R E20 1 3,510 | {ERHIEEE 1 E2y
Homfaet (=5t 1) X 1 2, 265, 000
ol T 2V 1 13, 862, 006
TR e gL E20 1 3, 260, 000
A Rike g o 2V 1 8, 688, 000
oA T 2V 1 25, 810, 006
AR E20 1 1,224, 000
T AT 2V 1 74, 534, 006
— i PR E20 1 8, 965, 994
N E20 1 83, 500, 000

-2 - SR ST KR S W )




